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XGBoost
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df =

EHl

df. head ()

W N 2 o

timestamp
2015-01-04 00:00:00
2015-01-04 01:00:00
2015-01-04 02:00:00
2015-01-04 03:00:00
2015-01-04 04:00:00

1

cnt  t1
182 3.0
138 3.0
134 25
72 20
47 20

t2
20
25
25
20
0.0

pd. read_csv (“/content/drive/MvDrive/Youbike

hum
93.0
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96.5
100.0
93.0
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5.0
0.0
0.0
6.5

dataset/london_merged. csv
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10

)

0.0
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0.0
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0.0

wind_speed weather_code is_holiday is_weekend seas

1.0
1.0
1.0
1.0
1.0
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« RERMAREXNBERESyY

data. drop ([ timestamp’,  cnt’ ], axis=1) X fﬁ?ﬁ%ﬁﬁ {ZnB%D/\;WE%ZEE/JH'M’JEg
Y: H=5

datal’ ent’]

R
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° def df splitidf, train percent):

split_index = int(train percent =* len(df))
train = df.iloc[:split_index]
test = df.iloclsplit_index:]

return  traln, test

df split (¥, 0.7)
df_splitisy, 0. 7)

[ ] ¥ train, X test
v_traln, v_test
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& FAXGBRegressorgl & [clEF &= Axgbmodel

from xghoost. sklearn import XGBREesressor

from sklearn.metrics import mean_absolute_error, r2_score, mean_squared_log_error, mean_squared_error, make_scorer

¥gbmodel = XGBRegressor()
xgbmodel. f1t (¥ train, ¥ _train)

preds = xgbmodel.predict(¥ test)

(EJ5E R ERGERNIBAGER ZERVEE

import numpy as  np

rmse = np.sqrt (mean_squared_error(y_test, preds)') N I , Y= =10 == i , B
prin‘t (”RHSE: %f.r.r % (I‘IHSE)) ° 1%% q:jsj_ E an \Eﬁﬂ%Egﬂ HHTI
RMSE: 1015. 137644 . EBEREN



XG BOOSt' -Elﬂjn\n

Bikes shares

5000 -

8
8

2000 A

1000 4

- ITARELLER-BRENTRRE

Bike share prediction per hour

“!“ ’llE n{!,‘ '!; ! " ull H'l Lt ," u;

—=— Ground truth
—— Predicted

0 1000 2000 3000 4000
Date

5000



LSTM




s
= n

LSTM —E 4 B =3

« DEEIREFREEO : 1)

° import math
from sklearn. preprocessing import RobustScaler

training_data_len = math.ceil(len(df] *.9) # taking 90% of data to train and 10% of data to test
testing_data_len = len(df) - +training_data_len

time_steps = 24

train, test = df.iloc[0:training data_len], df.iloc[(training_data_len-time_steps):len(df)]

print (df. shape, train. shape, test.shape)

C> (17414, 13) (15673, 13) (1765, 13)

« FHRobustScaleriTT

[ ] # Scale the all of the data from colums [t17, "t2°, “hum', wind_speed ]
train_trans = train[[t1’, “t2°, “hun, wind speed ]]. to_numpy()
test_trans = test[["t1’, "t2°, “hum, wind_speed ]]. to_rumpy()
scaler = RobustScaler() # Handles outliers "
train. locl:, [t1', "t2°, “hun', ' wind speed ]]=scaler.fit_transform{train_trans) FE}E“E ',Lr% 1;'17

2

test.locl:, [t1', 7t2°, "hum, wind speed ]]=scaler.fit_transformitest_trans)

#3cale the all of the data from columns [ ent’]

train[ent’] = scaler. fit_transform(train[["ent’ 110
test[ ent’] = scaler. fit_transformitest[[ ent’ 11}
2

2

FY & 8
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« EYLSTMEE

° from keras. preprocessing import sequence
from keras.models I1mport Sequential
from keras.layers import Dense, Dropout , LSTN , Bidirectional

model = Sequential()

model. add (Bidirectional (LSTN(50, input_shape={x_train. shapel[l1], x_train. shape[2]13)))
model. add (Dropout (0. 2))

model. add (Dense (units=1)]

model. compile(optimizer="adam”, loss="mse")

# prepared_model = model. fit(¥_train, v_train, batch_size=32, epochs=100, validation_data=[¥_test, y_test])

history = model.fit(x_train, v_train, epochs=150, batch size=32, walidatior split=0.3, shuffle=True)
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cH I}

Epoch 136,150

243/342 [==

Fpoch 137/150
243/342 [==

Fpoch 138/150

343/343 [==
Epoch 139,150

343/343 [==
Fpoch 140,150

3437343 [==
Epoch 1417150

243/243 [==
Fpoch 1427150

343/3453 [==
Fpoch 143/150

243/342 [==

Fpoch 144150
343/343 [==

Fpoch 145/150

343/343 [==
Epoch 146,150

343/343 [==
Fpoch 147/150

343/343 [==
Epoch 148/150
243/243 [==

Fpoch 1497150

343/3453 [==
Epoch 150/150

243/343 [==
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14ms/step
18ms/step
14ms/step
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1Ems/step
ldms/step
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18ms/step
14ms/step
15ms/step
16ms/step
ldms/step
18ms/step

14ms/step

logs:

loss:

loss:

loss:

loss:

loss:

loss:

logs:

loss:

loss:

loss:

loss:

loss:

loss:

logs:
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val_ loss:
val_loss:
val_loss:
val_loss:
val_ los=s:
val_loss:
val_loss:
val_ loss:
val_loss:
val_loss:
val_loss:
val_ los=s:
val_loss:
val_loss:
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[ 1 from sklearn.metrics import mean squared error, r2 score
rmse_lstm = np.sqrt(mean_squared_errur(y_test, y_pred])

rmse_lstm

RMSE 366, 1102269162983
[ ] r2lstm = 12 scorely test, v _pred)
r2 1stm
R®score  0.a456010779%91341 R ] AR TR B A2 By A L
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